107!

1072

107

-10 —8 -6

Ties
€; 0.
ey
onstant 0
N ear .
E ma. )
o nIes Y
C & Bev
onstant 3 g
ear .
- igima 1
E Bev

—420246810

[ pull of goverp parameter |

107!

1072

107

nmes - 7
A2 §
ean O%
igma -

TIeS

0
)
0

Egm—glxe@EE emBTal{um ttl(?flr?) q

10™
'g 1.4
o]
o 12
0.8 - . PR
—10—8 6—4 20 2 4 6 8 10
uI:rW :%é;i)?%‘%%?-oglﬂasel»newgeom |

[ pull of @parameter |

107}

1072

1073

10

Ratio

=k
N D

o
0

—4—20246810

o
I
©

[ pull of dxy parameter

107}

1072

10™

1.4

Ratio

12

0.8

—.L086420246810

[ pull of 6 parameter |

107}

1073

Ratio

[ pull of dz parameter

: o =
.L086420246810

107}

1072

10™

Ratio

gonslam 2 &(g%%%g
139

her, o
Msﬁm” off?

res




	Contents
	Page 1


